
     次の英文を読んで， 問いに答えよ。

 

　　　　　　　　　問題文につきましては著作権の関係上，過去問集には記載しておりません。
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学力検査問題［英語］(その１)

解答はすべて解答用紙に記入せよ。
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１　[　　] 内の下線を施した語を並べかえて英文を完成せよ。

２　下線部 A を和訳せよ。

３　下線部 B を和訳せよ。

４　下線部 (1) ～ (4) の代名詞が指すものを， ア～サから選び， 記号で答えよ。

	 ア　the world’s oceans	 イ　longitude and latitude		 ウ　lines		  エ　some ships	

	 オ　chronometers		  カ　two places	 キ　eighteenth century ships	 ク　Harrison’s clocks

	 ケ　the sun, moon, and stars			   コ　maps				    サ　time differences	

５　本文の内容と合っているものを， ア～ケから４つ選び， 記号で答えよ。

	 ア　Longitude lines go from left to right and tell east-west position.

	 イ　In order to travel safely, it was necessary for a ship’s captain to know the longitude and latitude of his ship.

	 ウ　By using a sextant, ships were able to find their exact positions in the eighteenth century.

	 エ　Harrison wondered if it would be possible to measure a ship’s longitude using a clock.

	 オ　One of the problems Harrison faced was that the chronometer needed to be very tough.

	 カ　The British government offered an award to a ship captain who could solve the longitude problem.

	 キ　John Harrison was a captain of a ship in the eighteenth century.

	 ク　Ships would be able to find their longitudes using a chronometer.

	 ケ　Harrison decided to invent a big, wooden clock because he wanted to use it in London.

     次の各文の (    ) 内に入れるべき語句を， ア～エから選び， 記号で答えよ。

１　　I  (      )  I had been able to pass the exam.
	 ア　know	 	 イ　wish	 	 ウ　hope	 	 エ　see	

２　　I used to stay at the hotel,  (      )  was built 80 years ago.

	 ア　what		  イ　which		  ウ　where		  エ　how
３　　The roads are wet. It  (      )  while we were inside.
	 ア　must rain	 イ　must have rained	 ウ　should rain	 エ　should have rained

４　　No sooner had he said the words  (      )  he regretted them.
	 ア　than		  イ　about		  ウ　later		  エ　from

５　　Researchers have  (      )  a new species of butterfly in the Amazon basin.
	 ア　discovered	 イ　determined	 ウ　introduced	 エ　invented

６　　Of the two toys, the girl chose the  (      )  one. 

	 ア　least expensive	イ　most expensive	ウ　less expensive	 エ　fewer expensive

７　　I met his parents at the party. They were very easy  (      ).
	 ア　talk		  イ　talk to		  ウ　to talk		  エ　to talk to		

８　　(      )  to the right, you will see the park right in front of you. 
	 ア　Turned		  イ　Turning		  ウ　To turning	 エ　Will turn		

９　　The scientist designed an experiment using white  (      ).
	 ア　	 ア　mousemouse		  イ　イ　mousesmouses		  ウ　ウ　micemice		  エ　エ　micesmices		

学力検査問題［英語］(その２)

解答はすべて解答用紙に記入せよ。
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学力検査問題［英語］(その３)

解答はすべて解答用紙に記入せよ。

     次の各文の (    )内に入るものを， ア～セから選び， 記号で答えよ。ただし， 同じ記号を２回以上使用してはならない。

１　　How does this new product  (      )  the one which came out in December?

２　　No one could  (      )  what the philosopher said. It was too difficult.

３　　One day I want to get married and  (      ).

４　　To their great disappointment, they failed to  (      )  the research.

５　　I need to do some exercises. I am planning to  (      )  for a yoga course.

６　　Dad, can you  (      )  home early tonight? I want you to help me with my homework.

７　　(      )  a minute! Isn’t that your twin sister over there?

８　　My friend is going for a trip. I’ll  (      )  his cat while he is away.

９　　I need to  (      )  a dress for the dinner party next week.

	 ア　sign up		  イ　wear out		 ウ　get back		  エ　build up		  オ　pick out	
	 カ　hold on		  キ　differ from	 ク　look after	 ケ　run down	 コ　settle down	
	 サ　catch up		  シ　figure out	 ス　drop out		  セ　carry out	

     次の各組の二文がほぼ同じ意味を表すように，(1)，(2) に適当な語を入れよ。

１　　Jim is so rich that he can buy a castle.

　　　Jim is rich  (1)  (2)  buy a castle.

２　　The brown car made a smooth start.

　　　The brown car  (1)  (2).

３　　It is said that the woman is 100 years old.

　　　The woman is said  (1)  (2)  100 years old.

     日本文の意味を表すように，(    ) 内の下線を施した語句を並べかえて英文を完成せよ。

１　　彼女は父親と同じくらい背が高い。

　　　(  tall  as  her  is  father  as  she  )  .

２　　彼は始発電車に乗るため早く起きた。

　　　He  (  catch  early  train  to  the  first  got up  )  .

３　　私はその出来事とは何の関係もありません。

　　　(  I  to  have  the incident  nothing  with  do  )  .

４　　彼女はほとんどすべてのお金を洋服に使ってしまった。

　　　She  (  her money  has  on  spent  all  clothes  almost  )  .

５　　今朝私はあなたの弟が通りを横切っているところを見ました。

　　　This morning  (  across  saw  brother  I  walking  the street  your  )  .
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解答用紙［英語］
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解答例

		

		

		

イ オ

イ イ ア ア イ ウ

オセ アシ ウキ コ カ

　enough to  started    smoothly  to be

  					     are on opposite sides of

				    彼が６歳のとき，両親が彼に時計を与えると，ハリソンは

				    動く部品のひとつひとつを観察して楽しんだと言う人もいる。

				    世界における人の位置によって時間は変化する。

				    その人が東に行けば時間は進み，西に行けば時間は戻る。				  

  				    She is as tall as her father.

  				    I have nothing to do with the incident.
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受 験 

      番 号 

エ キ カ イ エ ク

イ ウ エ

ク

(1) (1) (1)(2) (2) (2)

 He got up early to catch the first train.

 She has spent almost all her money on clothes.
 This morning  I saw your brother walking across the street.


